5.2.1

5.2: The Natural Logarithmic Function: Integration

Using the derivative of the natural logarithmic function to obtain an antiderivative:

Example 1: Find the derivative of g(x) = 1n|x| .
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Note that f(x) =In x has the same derivative as\_gfcﬂ) (%cp a&& A ‘Q\FOL(D'\_ O}
Therefore %ln |x| = % . This means that f(x) = ln|x| is an antiderivative of F(x) = i
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Recall: The power rule for integrals jx”dx =
n+l1

this case.
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Example 4: Determine de
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Example 5: Determine I
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Example 6: Find (Inx) dx
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Example 10: Find J.de. _ LA@E‘ —l)
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Integrating the remaining trigonometric functions: _ ainy
NEN dor-
AM = C Os‘*

\
Example 11: Determine Itanxdx. Ao e S
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Example 12: Determine Icot xdx.
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Example 14: Determine Icscxdx. U= €S K x ca"")(.
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